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Reg. No.

VI Semester .B.Com,le.COm.s Examiﬁation, Mayl.'_lu'ne 2018
Paper - V : COMPUTER 'APPLICATlONS IN BUSINESS -V

Time : 3 Hours - ~ Max. Marks : 80

Instructions : 1) All Sections are compulsory subject to Internal cho:ce
2) Sect:on Dis compuisory.

SECTION-A

Answer any ten questions. Each carries 2 marks. - (2%x10=20)

1.

2.

- 0.
11,

12.

Define computerized accounting information system.

What do you mean by _dou'ble entry system ?

. Write the purpose of contra voucher. Give example.

Which key is used to delete group in Tally ?

What is Invehtory in Tally 7

What do you mean by rejection out Entry ? -
Write the steps to ét_ter étoék groups in Tally.

What is Cash/Fund flow statement in Tally ?

. Write the steps to 'display PIL account in Tally.

Define Multimedia.:
Expand MPEG and DVI.

List any two audio players.

PIT.O.
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SECTION - B
Answer any three questions. Each carries five marks. (3x5=15)
13. Explain the claésification of acdounts.
14. What is ledger ? Write the steps to create a Iedger'in Tally.
15. Writ_e the steps to create godown in Tally.
16. Describe ratio analysis report with its neat format in Tally.

17. List the software and hardware requirements for the multimedia system.

SECTION - C

Answer any two of the following questions. Each carries 15 marks. (2x15=30)
18. Distinguish between manual énd éomputerised AlIS.

19. Discuss the various statements of Inventory in Tally.

20. Explain ih detail the output devices used in muitimedia.

21. Write short notes on :
a) Accounting vouchers
b) Cost centers |
c¢) Graphics in multimedia. |

SECTION-D
Compulsory question (Case Study). (1x15=15)

22. Journalize the following transactions in tabular form to identify groups, ledgers
and vouchers 2017.

1) Miss Ananya has started business with Rs. 5,00,000/-
2) Opened bank account and deposited Rs. 1,00,000/—
3) Sold goods for Rs. 80,000 for cash
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4) Brought machinery for Rs. 25,000 and purchased furniture for Fls._-20,000
5) Sold goods to Mr. Anvit for Rs. 20,000
6) Purchased :goods from Mr. Praveen on credit with of Rs. 60,000
~ 7) Loan given to Miss. Tanushri Rs. 10,000. |
8) Cash paid to Sanket Rs. 50,000

9) Amoqnt withdrawn from bank for personal use Rs. 8,000
10) Paid for factory rent Rs. 5,000.
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Reg. No.

Vi Semester B.Com. 3 Degree Examination, May/June 2018
INDIAN ECONOMICS

Time : 3 Hours Max. Marks : 80

Instructions : 1) All sub-questions should be answered at one place
continuously. Quote facts and figures to support your answer.
DR V-, é R wotde 3ER ev3T wowD. oT '
€908 - e:aoeirie;?:ao&)ﬁ an%msdmm NRPFRO.

2) Answer to all Sections should be written in the same answer
book.

R DTN LVSONTR) 2.083¢ SVST T8, FoDG, TR0,

SECTION - A
&)mri -

1. Answer any ten of the following in 2-3 sentences each. (10x2=20)
INSINYE, Yewoss B¢ 2-3 TFNYY uZ0R0.
a) What is Indian Economics ?
4003 ST TOR DOTTE ?

b) Give the meaning of a developing economy.
eszpa%&%&w aﬁr@d@oﬁa OPF DeRO.

c) State any two components of national income.
TRy L0 TOTRR wRROE TR eoéﬁ@d&é@m.

d) Who is the architect of New Economic Policy in India ? |
L0 TR UPFT Lreorsod &9 oxnth 7

e) Give the meaning of sex-ratio.
- Oon-e0mRIT T FRBO.

f) What is demographic dividend ?
TIVONCOD RO 0T3S 7

P.T.0.
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g) What is economic planning ?
SRFT 03RS DomBesd 2

h) Who is the Deputy Chairman of NITI Commission ?
- Qe sodnpend SUTDTETO R 9

i) Define CPIN.

™. ¥, Ar. (CPIN) & mxya3 gnad.
j) What is poverty line ?

WBST Bead DoTFER 9
k) What is Black money ?

35 BeD 0TI ?

- 1) Who presented the Central (Union) Budget for the year 2018-19 ?
2018-19 T 8eor3, Bon@Hg ) oms RRassc: iRty 9

SECTION - B
Qyen- w

Answer any three of the following : - | (3x5=15)
FINT Wetors Baedd aj%rf@ﬁ’m_ép&& '
2. Is India a developing economy ? Give reasons. ,
OB 2,000 eszp_sdt% BROTVETT &3 gdﬂ@oﬁoe ? mdwﬁ@’zdg‘imao;
3. Explain the impact of economic reforms on Indian Economy.
AnTer:1at escp’ra"gsd%o:b RS &3 SHFT ROTHENY sg’,z,:add&’g{ DTOXD.
4. Define and explain the factors determihing density of population.

el at] 9,8 k), ST, 8):5;'0:3;5:3 BOBRIR) TORD. |

5. Examine the mOn‘etary policy of RBI.
POBecd> 02 13,088 BeoTAR Do) ToseRD.
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- 6. Calculate the CPIN by using below data.

10.

39NS 08 oY A0 MEES 13 Retd o8 S0,

Commodity ~ Base yéar price Current year prii:e
(in%) (in3)
Srisd BRUTVFBYSR) IR SAFR UG )
Rice 15 ' 45
4 | |
Cloth 30 120
8 |
Sugar | 10 ' ' 30
40 |
Rent | 2000 - 6000
Ante Tl _ ;
Education 2000 8000
3859 - _ A
SECTION-C
o~ 2
Answer any two of the following : S
3N 35T 0TS, €00, T s
- 7. Discuss the main characteristics of Indian Economy.

Eaplecinf e:;srgmgw T[R0D O saﬂ#dg{zﬁgrm.
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 (2x15=30)

Examine the trends in the growth and composition of national income in India.
OTE Ty, STHAE e3dSed F) SESoHRE WRRRHRIR) BobeSR0.

Examine the objectives and achievements of XI Five Year Plan in India.
PTIT BRROTBOI TWoIAFE 03RRI HOTEB TR TPINTR) W0dLOX0.

Explain the main sources of tax revenue and heads of expenditure of Central

Government.

3603 ROTR 08 For TR Raserivs Fo%) TR eRrdv TR0,
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: SECTION - D - -
At S 1
11. Case let : " (1x15=15)

The decadal population growth rate fell to 17.64% in 2011 from 21.54% in
2001 census. The literacy rate climbed from 64.83% in 2001 to 74.04% in 201 1.
india has 2.4% of world’s land area and 16.85% of world's population. India
continued to face the problem of population.

Questions : |
) What are the causes for rapid growth of population ? 5
i) How population growth has a negative impact on the economic development ? 6
iii) What is the pe'rcentage of reduced growth rate of population during
2001-2011 ? , ~
iv) What is the percentage of increased literacy irate during 2001-2011 ? 2
23 - gRRR | |
| BRRRE wdon] UYRER 262001 Tiep3039 3. 21.64 00532011 Sessrinsone),
3e. 17.64 § aposd. ade BB T 36 e, 64.83 0oz Fe. 74.04 g 20,
%3003 w8 P32 2.4 d""mi.)“ 3% gdeefﬁafa’( w02 w33 zsa%oagod) 5'3’53331 6.85 d"‘m“
@’dm@da’% TRoOT. POy udxomg #d:,gwoﬁg{ DTV W00B3OT,
Yo |
i) wRFodob 36x ITTedrin mdwﬁm@q) 9 B
1) wsoal tiYesnt soF epmnoD Sed Sert Smoads Bomems et 9
i) 20012011 3 ese3poto) eetsioas w3eRednt o Zase D Fe3RearIR) BRDCIRAG 9

V) 2001-2011 & ep0td megs T 2ss axty B 2

N N O O
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Reg. No.

Vi Semester B.Com. 3 Degree Examination, May/June 2018
| MODERN AUDITING AND PRACTICES
(Regular and Repeaters)

Time : 3 Hours N - Max. Marks : 80 '

Instructions : 1) Answer all the Sections according to internal choices.
2) Section ‘D’ is compulsory.
_ _ SECTION - A |
1. Answer any ten of the following : ' _ (2x10=20)
a) Give the meaning of auditing. |
b) Name any two types of errors.
c) State any two merits of audit programme.
d) State the statutory qualification of an auditor.
e) What do you mean by eng'agement letter ?
f) Define internal check. |
g) Define vouching.
h) Define the term verification.
i) What is tax audit ?
j} What is contingent liability ?
k) What is capital receipt ?
- 1) What is audit report ?7
SECTION -B

Answer any three of the following : : | (3x5=15)
2. Explain the rights of a auditor.

3. Explain the objeétives of vouching.
' P.T.O.
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4.

5.
6.

Distinguish betwee_n auditing and investigation.
What are provisions regarding appomtment of company audltors ?

Explain the merits of contlnuous audit.

SECTION - C

Answer any two of the following : - ; (2x15=30)

7.
8.

11.

Explain the advantages and limitations of auditing.

Explain how do you vouch the following :
a) Cash purchases
b) Salaries

¢) Directors fees.

Explain the problems of verification and valuation of Assets.
. Define Audit Report. Explain the features and importance of audit report.
SECTION - D
(Compulsory) ,
~Case studies : ~ (1x15=15)

‘a) A transaction of cash purchase of computer has been taken as cash

purchase of goods.

b} Credit purchase of goods of ¥ 10,000 was entered in the purchase book as
31 ,00,000.

c) An item of wages of ¥ 8,000 was posted to General Exps. Alc.
d) Cash sales of ¥ 25,000 has not been recorded in the cash book.
e) ¥ 500 electricity bill paid is recorded in salary register.

As an auditor, what action you will take to rectlfy such errors ? Identify the types

of errors.
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RPN 1) 030F AR LYTED, DR Qgenner evgoA.
2) 33 11 oo s@aﬁﬁ#ﬁg@mﬁd.

-  APR-O
1. SUNIRNPS), Beors B BB NOR LVZORO. |  (2x10=20)
a) S8 ToBPNoD BFFBR), LBo0.
b) w3 AV F0m 350D SRRy, BROL.
c) % BOBRFVOD FoOFE,RT OB SPRYRY BewD.
- d) SETOBRGES aa?ssw% LTS WD,
e) JeR0TS T, oWV ? |
f) ©0308 SRR 239,809, w0,
g) B=nee Sedn¥ TOBeORBOD 89,838, 2WB0WO.
h) @0dews TTT w00, ERRD.
) Sort & Toseers ST ?
j) RoydmReody BRMWrodSNToBTeI> ?
k) womazes 'dée&me;q DOTITED ?
) SEBOIREGH FID LTI ?

P - W
13603 Thach TN GUIORO. (3x5=15)
2. o33 ToBoegEs BRRU DT0O.
3. @ Geon odeodab sudens aTORD.
4. I8 TOBRGS R INBNYY 39,3 wcdd.
5. 30z %ﬁmewd JeaTd ac:daabmo IR ?
6. PO03T SFTOBDLGRAD SRBRCIVR DIOKD.
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DN - F

Wems 0TI neR evgons,  (2x15=30)

7.

8.

10.

11.

e?# ator ol mratont) OEROZ L3 eaammosﬁvab DO 2330008,
wﬁmmﬂm £eﬁ TOBeOXOND aowd;b awme

) IR DO

W) JeSIngd

%) QTFeBBT e

sANG e‘u‘b&ra@tsé OIS m‘ae eifdsaﬁt‘} PSTAOr mm NTOL ud‘dlo&

d’ﬁ'wﬁd@(’ﬁﬁ 35@05) @?) 03, 5 28 m@b €330 msaossam*z&) TonR 3353833)
Wa3DRO,

PATARY - =
(Bmh)
B0 53 0 : L | (1x15=15)

i) m‘aSOdJoS SN 9308&) 5 mcm: SNTH Kooy 93060 ROT LTORSIAT.

i) T 10, 000 6—%3 ema soa\acmab E3leTea) @Na’d@ T 1,00,000 20 -
WA,

) X 8,000 800 B0 TIPS, DS A LBIEHAT,

iv) ¥ 25,000 33338 Sncd EROAIT), Iried YR xdchenne,
V) T 500 aab, zer DB INRGR), BeIT THIS RTHE, SRROBONG.

ey 200 ejsmmeqsmn 0O BPYN AWRT P BPHNeb rocHa D\VES)
eﬂa@mﬁm Jen STNTB TR0 7
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- Reg. No.

Vi Semester B.Com. 2/B.Com. 3 Exammatlon, May/June 2018
(Elective Paper - lil) (Regular and Repeaters)
INDIAN FINANCIAL SERVICES

Time : 3 Hours Max. Marks : 80

Instructions : 1) Answer all the Sections with the given internal choices.
- 2) Use of non-programmable calculator is allowed.
3) Question No. 11 (Case study) is compulsory.

SECTION A

1 Answer any ten of the following questions : ' (1 0x2=20)
a) What do you mean by financial services ? |
b) Mention any two types of fee based financial services.
c) Write any two functions of merchant banker.
d) Mention any two powers of SEBI over merchant banker.
e) Name any four features of lease.
f) What is leveraged lease ?
g) Expand NSDL and CDSL.
h) What is recourse factoring 7
i) What is bili discounting ?
j) What is online trading ?
k) What is credit rating ?
I) State two merits of rematerialisation.

SECTION - B |
Answer any three of the following questions : A - {3x5=15)
2. Briefly explain the features of financial services.
3. What are the books of accounts to be maintained by the merchant bankers ?

4. Briefly explain the various types of lease.

5. Explain the objectives of rematerialisation.

P.T.O.
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6.

factoring without recourse from the following information :
a) Annual sales Rs. 20,00,000 of which 80% is on credit.
b) Average collection period 90 days.

Calculate factoring cost and advances to be paid by the factor to his clients if

¢) Factoring commission — 3% on receivables.

d) Interest on advances — 18% p.a. after holding 10% reserve. -
e} Management cost of receivables Rs. 24,000 p.a.

) Bad debts are 3% on credit sales.

SECTION -C

Answer any two of the following qUestions D ' (2x15=30)

7.

8.

9.
10.

Explain the general responsibilities and obligation of merchant bankers as per
SEBI regulations. _ '

What is meant by leasing ? Evaluate leasing from thé point of view of lessor

“and Iess_ee.

Define factoring. Explain its objectives. |
What is dematerialisation ? What are its merit and demerits ?

SECTION-D

Case study (Compulsory question) : -  (1x15=15)

11.

M/s Dayanand Leasing Co. Ltd., is considering a leasing proposai to Kiran
Co. Ltd. The terms of agreement between them provide the following details :

The cost of the asset Rs. 20,00,000

- Average cost of capital 5% pa.

Life of asset 5 years

Salvage value Rs. 2,00,000

Govt. tax concession available to lessor @ 10% of lease cost.
Lease amount at the end of each year Rs. 7,00,000 for 5 years,
Tax rate applicable is 50% to lessor.

- Depreciation @ 20% on reducing balance method.

The discount (PV) factor at 15% is Re. 1 as follows
1% year — 0.86957 :

2™ year - 0.75614

3" year — 0.65752

4™ year — 0.57175

5" year - 0.49718

Compute P.V. of cash inflows and cash outflows and advise the company
whether it is financially profitable to lease out the asset. :
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1.

SRR e

- RRusSned: 1) @0308 Sonvn LY SR JERNNY) evgoR0.
- 2) S5 ena Fower aa oY) ci’easo‘ wso’airamzwa:m
3) & *’g’: 11 a’aaai) (a)’s’o’m &9(,)’ 0DFT).

WO — ¢

IWNIINE W60 BIE, LvZORD : {10x2=20)
a) Bragods RSN HotsSedd 9
b) Teazoxd ReSne cdnRR)REte TR 2o, BERd3 X mdﬁ#z&a SOR0.
¢) W38 239,080 odReYie OB &ocbrrf#g) :wdo:o
d) I3 o) oa’d R0edT ‘B o> cdnRTe 0> BTOONIRY, APLIRD.
e) resdod odm@mcﬁdra T, TOEUFFINIR) TRORD.

f) R3odog riesd o> ?
9) OF. FF. B. 2. TR & B. . ST, DFOH WEOWD.
h) =T Besbss 3,800 omsderd 2 :

i) 30k BERERIDE DoTTeR>

j) 98 5 Leton Horsed ?

k) 3= Beed Dowsesd 7

l) So05Ree3TE 0B WRBALIRT), SO0,

dgon—~ W

SINRRNYE), 13eeon T, Cugord: | - (3x5=15)

2.

® o on o

Brosoa BesSnied eBronda) RogPwEO DWOXD. A
WY 23,0801 NESF e RrEeIerars sod PRIy 2
riesdod QR TFoORIR), Ro§TRG  DHSORO.

RO SeTTT mcsesﬁ#aﬁ QIORD.

23 853803 70803 SL30R, abdaeeq}cs RPN’ aamafdab ©RROR FRIOCTT 53, TorR

PRI 3 3 MoEIRN dnBwETT a&woﬁzs Brosda), aowdab sod)ir\@ 0.

a) mm Rroots 3. 20,00,000 25389, 80% emdo dnoab.i

b) Roaxd HRedaD =0 90 HINL. |

C) FIDON* BERT* — BN e Jese3 3.

d) s:’moriaéd e 2B TV woar S B33 18 Qw3 33 100D, QoI -
SROBPRRTD.

 €) mond dRr B S, TAFY de. 24,000.

f) emdb SRTIIT a’becﬁ B3R 38 sdme (Bad debts).
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| o | az,_mﬁ 1
NI, e oURg evsond: B (2x15230)
7. 3w aosommm o FIF B IR0 Ao mmcr{%b TN WIENER) D020,
8. ress @ocﬂdeab ? Reedrod 302 Resdcous o SRERES00T resdodd wPe) mm adme
WBOON’S 39,85, DeRO. 3o wdwﬁeﬁaﬁa QEZOR0.
10. ©5798e800 2omBed 9 VET BRI v ezaaab&:aosﬁsfo IRy ?

-

- Imoah I ﬁdz‘a SPONIT: - (1x15=15)
11. ab domdod Oexorn® ﬁoﬁ&) O&b&:ﬁa‘a’ﬁda 30D FoTD ADHET e9:30r @Ncﬁaab

riesdod dRTY, e &seiraeasmbd)md edowd =g, @ws-z&d nees 50365
080,08 Bs BTN,

SR0D ab‘ae an. 20,00,000

RTORO wodm@ =3 BesB 15 a:ms-"é

SR0D BTG 5 Sﬁrr{w |

i leve 23(’&)333@0&) S0BT evgd d‘)’ao 8w, 2,00,000

ﬁdmdmod Fozrt BOr Doade 8@6@ 10 ( ﬁesémdaﬁ)

T ST B3 0D SRENIISR Dey Wolkn dr. 7,00,000

1ecdrsot om0 Be8B 50803 3613 TRRIRBTS, N

998 ab‘ao 303 BEY 3¢ 20.830003 :
- Beg 15c3 33T T8RS 8. 18 R B )% B8 FINT08:3 :

13e =3 — 0.86957

23e IR~ 0.75614

33¢ IR - 0.65752

43¢ IR - 0.57175

53¢ 3R - 0.49718

B30, BRSO >, GBdpes, Beatd AT WS B0 S Bd aodaigt 30@&@%53)55’5 o
23R SRODRLY, ﬁeeé RETJHTI cm;.%mo'bsﬁe eaowdab 390,
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Reg No
VI Semester B.Com.2 Degree Exammahon, May;‘June 2018
S INDUSTRIAL ECONOMICS o
Time : 3 Hours . -~ - : , Max. Marks : 80 -

Instructions : 1) All sub questmm should be answered at one place contmuously Quote
facts and figures to support. ’ .
DO, O T wsore St vz e, ewge wos ao&’ﬂsfmoaﬁadg oG
:ﬁab@r.:a . :
2) Answer fo ail Sectzons skow‘d be written in the same answer book
QD DLNNY mxs'o‘;fm aodde wdd«ga’abo zao’an;'o
© SECTION-A .
_ Syen - &
1. Answer any ten of the following questions in 2-3 sentences each ’ N ' (2x 10=20)_ N
SN e st érert 23 oo evgons. N :
a) What is Industrial Economics ?
§rote éqﬁs‘m‘s@odﬁe& 7 |
¢ b) Whatis Joint Sector?
Roctng Beod aodded
_¢) State the meaning of liberalisation.
' u‘omeeﬁdmd eBF 000, |
d) What is location of an indﬁstry ?
 §mom RY el RomdeRd 9 |
- &) Distinguish between gross and pure material.
RAY RO8 ) 0%, RSN F2o8 S0%0,
f) What is share
B oBdesd 9
'.-_g) What is e-commerce ?
e—mng @odded) 9
h) What is global-_vﬂlage’ ? .
o mebacddede e
i) Expand SWOT, o
SWOT 2302 wdows. _
| | . P.TO.
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i) When was EXIM Bank estabhshed ?
EXIM 23,08 O3eeon ABIOTRCC0B) 7
k) Expand IDBIL. '
IDBI 2708 wowe. - _
1) What is foreign trade policy ?
- ockede TR0 Vg 0B 7

SECTION - B
, _ | asa;r.;r{ “w _
Answer any three of the foliowiilg. B E o ) - - | - (3x5=15)
o s shuach IO 63g0%6. o S |
2. Explam the factors influencing 1ndustnal development ofa country

2,08 B3 §rodm Q) died gyps 2T 0B D[ORD-

. Explain the impact of globalisation on Indjan Economy. .

zpao’éd t’:acif‘ :gd” eSaedd mﬂéeﬁdm&ﬂ ZoEr SEbRD.

. Examine the problems of small scale mdustnes

o8¢, 408y ARy, 02O,
Explain the advantages of IT ihdustry.
intod odm rotod erbinednis; DSOR.
Discuss the current Foreign Trade Policy of India.
U3E BRE ;)d’eé_mﬁa@d@'eéoﬁdi lezaé-'m -
| SECTION-C
| R 3 |

Answer any twe of the following. - . S - (2>'<15.—.30)
| 3ong viemns oo JFrer vugoo. . . |

A

10.

Explain the factors inhibiting Industrlahsatlon of India.

WR03R 3, maéeﬁdm@ w@cﬁmd eoéﬁ#d: DEO/D. A

Critically examine the Weber’s theory of mdustnal locatlon, o

Bews TR §rwdEo weis’dmﬁ ATTOBIR), L%m:%ﬁmh FOBOD.

Discuss the various sources of Industrial Fmance in India.

oo, oo dS s eery B T
Explain the unportance of small scale industries in the Indian Economy.
anletiaflle gbrioves) zsﬁﬁ %mbéﬁd B33 a;ﬁo,qo.
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SECTION --D
opeR-d _
Caselet: . : | S o (1>-<15='15)
23 DT RS B o S
11. A New Industrial Pohcy of 1956 aimed at SOClahSth pattern of socnety The IP of 1991 was
totally changed our approach which opened up our economy The New Policies (LPG) have '
" opened up a new cra of industrialisation.
1956 3 oﬁran RS aea "abazsma bRt awmm @uaem@:)c&m 1991 © g Qe 2, WTCITBOD

 Ruwes dd% et @Jm aﬁaaa’mhmmom‘e’o a&ofu G:B@Fif z:"xraedwr{%f (LPG) ch.fbtb gddesdeact) Bs
030n=R3, AR 13plaverad :

Questlons -
Y

‘a) What is Industrial Pohcy ?
IR0 L3eTs DomdeRd 9

b) Explain the main featurcs of Industrial P011cy of 1991.
1991 3&eR 8 m@%‘a Redad TR0 OFfrv Do

c) ‘Indian Economy has entered a new era’. Give reasons.

EanteriafTlata t :&dﬂ TR oi»n’s:fab deé,oa"’ isadsaﬁﬁ?‘ab i:aao
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Reg. No.

VI Semester B.Com.3 Examination, May/June 2018
INCOME TAX~-H
(Regular) (Compulsory)

Time : 8 Hours ' | -~ Max. Marks : 80

Instructions : 1) Attempt all Sections according to internal choice.
2) Simple and non-programmable calcutators are
‘allowed. :
~ 3) Give working notes wherever necessary.
~ 4) Q. No. 11 is compulsory (Case Study).

SECTION-A

1. Answer any ten of the following : o - (10x2=20)
a) What is short term capital gain ? | |
b) Give a formula for calculation of indexed cost of acquisition of asset.
c) State the index numbers for the year 1981-82 and 2016-2017.
d) Who is called as an individual ? |
e) What. do you mean by set off of loss ?
f) What is partnership ?
g) What do you mean by interest on securities ?
h) How do you tréat dividend for income tax purpose ?

i) Whatisthe amount of deduction allowable for payment of medicalinsurance
premia under Section 80D ?

j) How do you treat donation given to Indira Gandhi Memorial Trust ?
k) What is the maximum deduction for interest on deposits in Savings Account ?

) Write any two donations 100% of which ambunt is allowed as deduction

U/S 80G.
P.T.O.
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SECTION - B

Answer any three of the following : | (5%x3=15)

2. Define capital gains. What are the transactions which are not considered as
transfers ?

3. Mr. Ramakumar furnishes the followmg particulars of his income pertaining to .
the previous year 2016-2017 :
a) Dividend from Co-operative Society ¥ 4,000
b) Family pensiqr_l < 60,000
c) Interest received on ¥ 40,000, 11% debentures df X Co. Ltd.
d) Directors fees received T 5,000.
e} Interest on fixed deposit with SBI T 3,000. |
Hé has paid collection charges of ¥ 400 to his banker. Compute his income

from other sources for the Assessment Year 2017-2018.

~4. Mr. Prabhu submits the following information pertaining to the previous year
2016- 17

i) Income from salary ~ % 5,00,000
i) Loss from self occupied property T 75,000
ii) Business loss | % 2,00,000
iv) Interest income from bank = ¥ 1,00,000
v) Winnings from lottories (gross)  %50,000

Compute his gross total income for the Assessment Year 2017-2018.
5. Write short notes on :

a) Contribution to political party w/s 80GGC -

b) Deduction in case of a person with disability U/S 80U.
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o 8 The Profit and Loss Account of a partnership'finn for the previous year ending
on 31-3-2017 is given below : '

3 | 2

To Interest on capital @ 12% P.A. 12,000 By Gross profitb/d  3,10,000
To Expenses 68,000
To Remuneration to working partners 1,65,000
To Depreciation 30,000
To Net profit =~ /35,000
3,10,000 3,10,000.

Note : Depreciation allowable as per rules ¥ 20,000.

Compute the total income of the firm for the Assessment Year 2017-18 assuming
that the firm satisfies all the conditions of Section 184 and 40(b).

SECTION-C
Answer any two of the following : (15%2=30)

7. Mr. Ramesh has transferred the following-cepitai assets during the previous -
year 2016-2017 : : :

Particulars o Residential Non-listed Self-Generated -
House Shares - goodwill

Sale proceeds of assets 14,96,000 11,46,000 3,42,000

Date of sale of assets 162016  20-9-2016 1-2-2017

Cost of acquisition 1,25000 50,000 -

Year of acquisition _ April, 1984 - April, 1970 -

Fair market value as on
1-4-1981 : - 1,00,000 - -

He purchased a new residential house for T 1,50,000 on 15-12-2016. The cost
. inflation index for the financial years 1981-82, 1984-85 and 2016-2017 were 100,
125 and 1125 respectively.

Compute his taxable capital gain for the Assessment Year 2017-2018.
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8. Divya and Kavya are the working paﬁners in a professional firm sharing profits and
losses in the ratio of 3: 2. The Income and Expénditure Account of the firm for the

year ending 31-3-2017 is as follows :

| | T | | o 3
Salary tostaff = 28,000 Professionél fee.s‘ | - 2,96,000
Salary to partners : : : Surplus on sale of |
Divya | - 60,000 | seb‘urities ‘ 20;000
Kavya 60,000 1,20,000 Interest from Bank F.D. 10,000
Interest on capital (at 10%) : Interest on deficit |
Divya 20,000 - capital : 10% Divya | 4,000
Kavya. | ' 20,000 40,000 |
Rent paid to bartner 3 |
Kavya - - 28,000
Bad debts 8,000
Provision for bad debts 6,000 |
Provision for income Tax 16,000
* Acquisition of patents rights 38,000
Loss on sale of piant . 2,000
Depreciation 14,000
Net profit transferred |
Divya 18,000

Kavya 12,000 30,000

3,30,000 | 3,30,000
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 Additional information : | |

a) The fair rental value of the building Jetout by Kavya to firm is 3 20,000.

b) Bad debts written off are all in respect of hand loan given to a partner's
relative.

c) Depreciation as per rules T 12,000 |ncludmg patents, etc.

d) The securities so!d on 31 12 2016 for ¥ 60,000 were purchased on
1-5-2016 for ¥ 40,000.

e) The plant sold in the previous year for T 14,000 was of the written down
value of ¥ 16,000 as on 1-4-2016. This was the only asset in the block of
assefs. '

Compute total income of the firm for the Assessment Year 201 7 2018.

9. Mr. Chetan has paid the following donations during the prevrous year ended
- 31-3-2017:

| 3
a) The National Children’s Fund . A '2,00,000
b) The Prime Minister's National Relief Fund ~~ 1,00,000
¢) A Medical College | | B ©4,00,000
d) An approved Charitable Institution ~ 2,00,000
e) For repairs and renovation of notified temple i 50,000
) Aidtopoor students | 20,000
g) Books donated to an approved college - . 30,000
h) Municipality approved for family planning 1,00,000

i) Chief Minister's and Lieutenant Governor's Relief Fund  1,00,000

Chetan’s gross total income amounted to ¥ 62,00,000 which inciudes the
long term capital gain of T 2,00,000.

Calculaté the deduction allowable to him U/S 80G for the Assessment Year
2017-18. |
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10. From the following particulaks of an individual, compute his total income for the

Assessment Year 2017-2018 :

4
i} Income from business : , 35,000
i} Long term capital gai.n (computed) - _ , 10,000
iii) Royalty received on copy right of books | 10,000
iv) Interest on bank term deposit (gross) , 5,000
v) Ir)terest on government securities . | 10,000
vi) Dividends from Co-operative Society o 3,000
vii) Rent received on hiring of tractor and other equipments 7;000
- viii) Rent.from-house property o A 10,000
Payment during the yéaf D
a) Donation to ruling i)oliticai party ‘ 3,000
b) Donation to Prime.Minist_er’s Drought Relief fund | 4,000
c) Insurance premium on his own life policy of ¥ 25,000 2,200
d) Repayment of housing loan instalrhent to an approved
financial institutibn A ‘ ‘ 2,800 |
e) Contribution to Public Provident Fund | | | 5,000

f) Subscription to NSC (viii issue) ) - 5,000

g) Insurance (fire) ¥ 200 and repairs ¥ 800 incurred on tractor

and equipments hired. A A ‘ 1,000.
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SECTION - D | |

Case study (Compulsory) : | (1x15=15)

11. Mr. Kumar is an individual and a resident assessee. The details of his income
for the Previous Year 2016-2017 were as follows : |

3
a) Income from salary (computed) 6,00,000
b) Loss from self'occup.ied property | 30,000
c) Capital gain (computed) _ ~ 3,00,000
d) Income from other.source's: _
i) Interest on 10% tax-free debentures of A Co. Ltd. 9,000
ii) 15% interest on fixed deposit in NationalisedBahk , 2,00,000
iii) Interest on debentures of X Co. Ltd. (net) - 18,000
iv) Hoyaity from mining (expenses ¥ 20,000) 80,000
Other details : ‘
a) Contribution to Recognised Provident Fund - 36,000
b) Life insurance premium on his wife’s life 12,000
c) Income from Mutual Fund ’ 2,000
~ d) Repayment of housihg loan. . 10,000
" @) Mediclaim premium | 4,000
f) Donation to Tsunami Fund | A 5,000
‘Questions : |

1) Can the assessee reduce further his taxable income 7

2) If yes, state the amount of investment in tax savihgs scheme U/S 80C.

3) Compute the total income considering the above for the Assessment Year
2017-2018. - :
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~ Reg. No.

Vi Semester B. Com .3 Degree Exammatlon, Mayldune 2018
GOODS AND SERVICES TAX-N

| (Regular) |
Time : 3 Hours | I i ‘ ’ Max Marks : 80

Instructions : 1) Attempt all Sections according to internal choice.

2) Use of s:mple non-programmab!e ca!culators are
allowed.

3) Sect:on D (Case study) is compulsory

SECTION - A
1. A.hswer any ten of the following . | ‘ (1 0x2_=20)'
| a) What _i_s.abatem-ent ?. | |
| b) Give any two items of lower rate.of tax.
¢) Define value of supply |
d) When general valuation rules are appllcable ?
e) State the types of-__cons:deratlon under GST.
f) What is input tax credit ?-- |
g) What is debit note ?
h) What is tax ,in\}oibe 7
i) What is returns ?
j) State any two methods of payment. ‘
k) What is refu_nd ? |
) Expand ‘NEFT" and ‘RTGS’.

P.T.O.
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Answer any three of the following :

2.

Answer any two of the following :
7.

8.

SECTION - B

What is the difference between nil rated, exempted, 2efro> rated and non-GST
supplies ? ' o

The selling price of apparel exclusive of GST is ¥ 40,000. The rate of GST-
applicable to the apparel is 5%. Trade discount allowed as per normal trade
practice before delivery of the product is ¥ 3,000. Freight paid for the supply of
the apparel is ¥ 5,000, which is not included in the selling price.

Determine transaction value and amount of GST payable.

‘Mohan Ltd., Belagavi purchased goods for ¥ 60,000 and sold goods for

¥ 72,000 within the Karnataka State. GST rate on purchase is @ 12% and on
sale is @18%. | | '

Compute output tax, input tax credit and balarice of GST payable. -
What are the features of payment process ?

]

Write note on excess payment of tax due to mistake or inadvertence.

- SECTION-C
(2x15=30)
Briefly explain the GST structure rates with five items in each schedule.

From the following information of Prakash Company, ABéIagavi for the month
January 2018, compute input tax credit and amount of GST payable.

Purchases : _ A
i} Purchase of' raw-material ‘A’ from a supplierin Bengaluru ? 4,00,000 @5%
GST. o ‘ o
i) Purchase of raw-material ‘B’ from a SUpplier in Poona ¥ 20,00,000 @ 12%
GST. S

(3x5=15)
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Sales :
i) Sales of T 12,00,000 with in the State @ 18% GST

i) Sales of ¥ 12,00,000 with in the State @ 12% GST.
9. Briefly explain the types of returns. |
10. Write short notes on any three :
a) Refund.in case of provisional asseésmeni._ '
b} Refund of pre-deposit for .ﬁlin.g appeal. |
| c¢) Export of goods or services under cl.aim of rebate.

d) Time limit for filing refund claim.

SECTION-D
Case study (Compulsory) : | -  (1x15=15)

11. Selling price of a product sold to Delhi from a dealer of Belagavi is ¥ 1,50,000
(including 12% GST) |
The above selling price is not included the following :
i) Normal secondary packing cost ¥ 6,000
i) Durable and retumnable packing cost ¥ 8,000
iii) Freight ¥ 4,000
iv) Cost of special packing ¥ 10,000

v) insurance charges ¥ 1,400
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The trade discount (Normal practice) is ¥ 20,000.
- From the above information :
a) Compute transaction value
-b) Amount of GST payable and

c) Comment on ‘IGST".
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Reg. No.

VI Semester B.Com.2/B.Com.3 Degree Examination, May/June 2018
(Regular and Repeater)
COSTING METHODS AND TECHNIQUES - 11

Time : 3 Hours ' _ ‘ ~ Max. Marks : 80

Instructions : 1) Attempt questions according to internal choice in each Section.
2) Working notes must be given wherever necessary.
3) Use non-programmable calculators only.

SECTION -A

1. Answer any ten of the following : (10x2=20)
a) What is job costing ? ‘
‘b) Name any 4 undertakmgs where operating costmg applies.

c) Whatis operatmg costing ? '
d) Write any two features of output costing.
e) Give the meaning of work certified and work uncertified.
f) What is composite cost unit ? Give examples. |
g) What are joint products ? Give two examples.
h) Whatis B.EEP. 7
i) What is P/V Ratio ?
j) What is contribution ?
k) Give the meaning of profit reconciliation statement.
1) State two uses of profit reconciliation statement.

SECTION -B
Answer any three of the following : (3x5=15)
2. What are the reasons for disagreement in cost and financial profit ? |

3. From the following information, prepare cost sheet for the month of April, 2018,
Raw material consumed ¥ 8,500 A
Direct wages paid ¥ 10,000
Factory expenses — 50% on wages.
Office expenses — 20% on factory cost.
The quotation should include a profit of 20% on selling price.

P.T.O.
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4. From the following information calculate -
a) P/\{ Ratio.
b) BEP in sales.
Selling price per unit ¥ 30.
Manufacturing variabie cost per unit ¥ 10,
Selling variable cost per unit % 5, |
Fixed cost ¥ 2,50,000.

5. Joint cost of producing three products X,Y and Z amounted to ¥ 54,
products are as follows :

_ X Y .
Sales _ - 84,000 %40,000
_ ' 1 1
Estimated profit on sales 5 Y
Further processing cost ' ‘ 314,000 ¥8,000

Apportion joint cost.

000. Other details of joint

Z

36,000

I

3

310,000

6. Belagavi transport company operates four buses between Belagavi and Dharwad. The distance

between Belagavi and Dharwad is about 80 kms. The capacity of each bus is 50 passengers.

But, on an average the bus runs 20% empty. All the buses run on all the days of the month

April. Each bus makes two round trips each day.
Caiculate total passen ger Kilometers.

SECTION - C

Answer any two of the following :

7. A product passes through three processes namely X, Y and Z. The de

as follows :

| X
Input (500 units) (I) o _ 4,000
Sundry Materials (%) ' 5,200
Direct Labour (%) 4,500
Production 6verhead 100% of wages -
Actual output (units) ' 450
Normal Loss(% on input) 10%
Scrap value per unit (%) : 4

- Prepare Process Accounts.

Y

4,000

7,360

340
20%

(2x15=30)

tails of each process are

Z

2,050

2,800

270
25%
10
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4. From the following information calculate :
a) P/V Ratio.
b) BEP in sales.
Selling price per unit T 30. ,
Manufacturing variable cost per unit ¥ 10.
Selling variable cost per unit % 5,
Fixed cost T 2,50,000.

3. Joint cost of producing three products X, Y and Z amounted to ¥ 54,000. Other details of joint
products are as follows _
X Y N/

Sales | | . 84,000 T40,000 % 36,000
_ ' . I 1 1
Estimated profit on sales —- - -
: _ _ 2 2 3

Further processing cost ' 14,000  ¥8,000 < 10,000

Apportion joint cost.

6. Belagavi transport company operates four buses between Belagavi and Dharwad., The distance
between Belagavi and Dharwad is about 80 kms. The capacity of each bus is 50 passengers.
But, on an average the bus runs 20% empty. All the buses run on all the days of the month
April. Each bus makes two round trips each day.

Calculate total passen ger Kilometers,

SECTION - C
Answer any two of the following : A : (2x15=30)
7. A product passes through three processes namely X, Y and Z. The details of each process are
as follows :
| X Y y/
Input (500 units) (3) ' 4,000 C— -
Sundry Materials (%) ' 5200 4000 2050
Direct Labour (%) 4,500 7,360 2,800
Production overhead 100% of wages | - - -
Actual output (units) 450 340 270
Normal Loss(% on input) 10% 20% 25%
Scrap value per unit €d) : A 4 8 10

- Prepare Process Accounts,
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8. A transport service company is running 4 buses between two cities which are 50 miles apart.
Seating capacity of each bus is 40 passengers. The following particulars were obtained from
their books for the month of April

T .
Wages of driv_érs conductors and cleaners ©1,20,000
Salaries of office staff | 50,000
Diesel and other oils _ : 2,00,000
Repairs and maintenance . - 40,000
Taxation and Insurance | 80,000
Depreciation ' 1,30,000
Interest and other charges ' - 1,00,000

Actual passengers carried were 75% of the seating capacity. All the four buses run on all the
days for the month. Each bus made one round trip per day. Find out cost per passenger mile.

9. M/s Shobha developers undertook a contract on 1-4-2017 for a price of T 15,00,000.
From the following particulars, prepare_contlact account for the year ending on 31-3-2018 :

3
Materials purchased - ' 1,45,000
Materials issued to site ' ’ 150,000
‘Wages paid | | 1,40,000
Direct expenses | - ' A 8,000
Materials returned 3,000
Machinery installed ' _ 60,000
Overhead charges . ‘ 9,000
Materials at site ' 14,000
Wages outstanding : o A 4,000
Cash received 6,75,000
Work uncertified | | | 25,000
Machinery at site at end . A ‘ 35,000
Retention mbney : 75,000

Besides machinery, a plant costing T 80,000 used for 3 months. Depreciation provided on plant
at 15% p.a. material costing T 6,000 was sold for X 4,000. Overhead charges are patid for three
quarters and overhead charges are due for fourth-quarter.

Also show relevant items appear in the Balance Sheet of contractor.




36623/23623/F 230 Bt MBNNNEUNEMOANEE

10. From the following figures, prepare profit Reconciliation Statement.

: 4
Net Loss as per Cost Accounts . - ' 20,000
Net Profit as per Financial Accounts ' : 30,000
Works overhead underrecovered in Cost A/c 6,000
Office overhead overrecovered in Cost Alc - 12,000
Depreciation charged in Financial A/c | | 20,000
Depreciation recovered in Cost A/c ' » | 28,000
Interest received on Securities , . 50,000
Obsolescence loss charged in Financial A/c S 10,600
Income Tax provided _ - ' : 20,000
Bank Interest credited . | 20,000
Stores adjustments credited in Fin. A/c - . 4,000
Value of Opening stock in Cost A/c ' © 1,04,000
Value of Opening stock in Fin. A/c 1,08,000
Value of Closing stock in Cost A/c _ 1,00,000
Value of Closing stock in Fin. A/c _ _ | 94,000
Interest charged in Cost A/c only : : 12,000
Preliminary expenses written off ) A ’ 2,000
Provision for doubtful debts - 8,000

SECTION - D
Case study — Compulsory. (1x15=15)
11. The following figures for profit and sales are obtained from the accounts of Vishwa Ltd.
Year : Sales Profit
. : T 3

2016 S 40,000 - 4,000
2017 | 60,000 - 8,000
Calculate : |
a) P/V Ratio.

b) Fixed cost.

c) Break Even sales.

d) Profit at sales of ¥ 95,000 and
€) Sales to earn a profit of T 9,000.




